ORoco—| rsatzteiliste

Replacement Parts

DB BR 041

43366

W o 3
8s Text Artone. (88
1| Motor 85063 | 57
Motor
2 | Zylinderkoptschraube M 2 x 10 85675 2
Cheese headed screw M 2 x 10
3 | Zylinderkoplschraube M 2 x 16 85678 2
Cheese headed screw M 2 x 16
4 | Beilagscheibe 86084 2
Washer
5| Schnecke 86703 4
Worm
6 | Tenderplatine komplett 87711 |28
Tender printed circuit assembly
7 | Puffer flach 88556 ]
Buffer flat
8 | Puffer gawolbt 88557 6
Buffer vaulted
9 | Isolierplatte 92231 2
Insulating plate
10 | Isolierkammer 92232 2
Einbau Art. 85063 Insulating board
Montageschritte:
A1, C1, C3 nach 11 | Tenderleitung 92450 4
der dem Tender pipe
Ersatzmotor
beiliegenden 12 | Schwenktir 92499 3
Anleitung Swivel door
durchithren. .I
13 | Gluhlampe 93518 |12
Light bulb
14 | Tender Unterteil 101899 | 30
Tender underbody
15 | Wasserdeckel links 101900 2
Water lid left
16 | Stule links 101902 2
Step left
17 | Stufe rechts 101903 2
Step right
18 | Trittbrett 101904 2
Running board
19 | Tenderleiter links 101907 4
Ladder left
20 | Tenderleiter rechts 101908 4
Ladder right
21 | Behélter mit Kontakt 101923 | 10
Tank with contact
22 | Tender Kohleaufsatz 106180 |22
Simulated coal
23 | Wasserdeckel rechts 106181 2
Water lid right
24 | Tenderbeleuchtung kemplett 108891 |35
Tender lightning set assembly
25 | Leuchistab Satz (links + rechts) 108896 B
Light transmission bar (left + right)
26 | Tendergehause 108899 |41
Tender body
Anderungen vorbehalten Ausgabe 99/03 Blatt 77171
Best. Nr. 841384 We reserve the right to make changes Edition 99/03 Page 771/1




